ASSEMBLY INSTRUCTIONS MODEL: MURRAYA 2 DOOR SHOE CABINET

HARDWARE LIST

—
rat | Description | Qty — = o ©
@ Back Panel 1
(2) [Shelf Pane 3 oy | @y
(3) | side Panel (L) 1
@ Side Panel (R) 1 CSK Cap Screw M6x50| CSK M3.5x 12 CSK M4 x 16 Mini Fix 15 x 12
(5) | Top Panel 1 4pcs 10pcs 16pcs 4pcs
@ Bottom Panel 1 G G @ Q
(7) | Door 2 @
o
L(/
Mini Fix Bolt 5/8 Nail Wood Dowel M8 x 25 Fix Stopper
4pcs 22pcs 8pcs 4pcs
- ASSEMBLY COMPLETEJL D <) (L)
/ W
‘ / Z Allen Key M4 Handle Cap Cover (Brown)
@ T — 1pc 2pcs 4pcs
R i g = Ve
| ® @
- - NS &@
B = N @ So— =D
/
Lo CSK M4 x 25 Magnet Metal Plate Shelf Support
4pcs 2pcs 2pcs 12pcs
@ % Q1: Screw Short
% Q2: Screw Long
% Q3: Wall Plug

Q4: Webbing Belt

Safety Kit
1set

L - REV 10f4 SPAI-TSB-1 SAFETY KIT










WALL

SSSSSSSSSSSSSSSSSSS




	Sheets and Views
	Model


